Pre-Calculus 11

Chapter 3 Review Name MQ,\J

l

1. Explain the difference between what is being asked in the following questions and complete

the questions.

a) Factor b) Solve by Factoring \\50\\,\@“ Cg %10@\
x2+5x+6 x2+7x+6=0 0
Mot Yo (S
(x+Dxe D (RAGXXNC = gign,
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2. What is an extraneous root? Give an example.

3. What is the discriminant? What does the discriminant tell you? Give examples.

Whse(iminoatt - o caddcand ¢ mm%ungaﬁc Drmada. .
R \Wt-Hee =0 RV Hee 76 \\ D dacsa

\ R 2 Seludhe\ S O <oludhors
| soluhet
4. Factor the following polynomials completely.
(a) 9(x — 1)2 — 1002 (b) ixz + %x —6
. 2 z _24
" (26R) = (o) SRR AR R

. (3(«_“+ lo\b@(’x-ﬂ —\@ :{r (/)(1% 2% -24)
= (3%-2r10)(3%-3-10Y) = (x+ )Ox-A)

(c) 0.1n% —0.1n — 3 (d) 4(x +3)2+8(x +3) =5 0= X+3
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5. Solve each equation by factoring.
(@) x*+7x+10=0

(x4 X+ TFO
X+5=(0 o X47=0

-1 <
-5 -5

%=S 0 X))

(c) 8x*=72x— 144

Fx 70y ¥ HH=0
'Y

3

XE-0x +1&=0

(x-G) (x “3)=©

Xz b6 ~xz3

. L‘(ﬁ (e) 4x* +8x+3=0

=\ A ot Qx 5306
Cxl=1(2 _
dieg O AR

(Qoxe D) (dx+D)=0

Ix+3=C Lo+ 1=0
- =-L
xX=-3 A5

e —

&

(b) X*-x=6
XX == G

(x-B)(x+D)=0
X-3<0 X4+2 =0
x5 AN -2

(d) 5x* + 20 = -25x

SX+)5x+ Q026
) S

Kox Sx+4 =0
(ra D) (x+Ny =0
CREI O
(f) 2x*=5x =0
x (ax-=)=0

Xz O 2x-5=6
AX=5

K=
=

6. Write a quadratic equation that has the following solutions.

(a) -5,7
K-S x=T
AXK+5S5z0  XK-1=0

(x+5)(x-T=0

XEx +S5x -%=6

X -9x 3570

(b) z,g X = %

x=2  Zx=4
X-2=G  Zex-H =0
(%-2) (3x-H) =6
2 Hx o rt s =0

ZKX-\0x +E=O
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7. Solve each equation.

(a) 82 -7=249 & == \27 (b) (x +5)% = 49 B
%:’ o - ?43::‘:% x= 541 2
2Ll X=-St7 A= ST

x= 19

-74+3 _ _ 5 ) S
(x-2¥ <4 /Xé L= 0%
_ 4

8. Solve each equation by completing the square. 0 (_ \%:—Q
(a) 3x*-12x+9=0 (b) X*—12x+31=0 Z
3 3

-4 > (-Q—L:?)b
) thxaneG RFATAN) oty *%—%m
50 2 co \EEZFU L (o0 430) S =0
S R-HprH-Hd3=0 ) 223 X\2x 43
5 (N (xTtx+R) -1 =0 7 (x-6y =5 jox:(oﬂ%
AKEA™ -6: -‘;EZ-‘;
(x-2=) AN *
() —4x2 +24x—21=0_ (difexux—g} o @R
= -4 - 7 1‘4
75('(94_ o x-Gx 42 =0 (’X-Q:% X*4 Hrx - 4=0 > (@
qS ) ACtlx -l -6 X+2=E %G

K- lx £9-9 25 ’ 345: (X4 4x+8) - 2020
=24 Yo
(?(1~G’X*0\J)’%(”%;6 S| Ox42¥=20

2 =242
9. Solve each equation with the quadratic formula.
(@) 4x*-3x-27=0 %:—bim (b) x*—10x+22=0
o= b=-3 c=-2M 26 x=1 l=-10 ¢=22
Xz - (B)E T -AGD2D x- <—n&f%&:-ﬁt®(@
— 2
FIQ) R
Xz 5t 3| = \ot ioo-%%
= 5t a44% = -
—_— _ :‘:
. © T ORE
= 32 A1 K=2 - 2
B

= ot A3
@) o
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1
10. Use the discriminant to determine the number of solutions to each question. b- doc

(@) 2 -9x+4=0

A4 (A
AR fay(\ﬁ
By

4 96&\,3“
(c) -6x°—3x+9=0

GRIENQ)
- Of -\-0’2\(3 ¢ L’

£
<935 6@

0

11. Solve the following.
(a) x-1=2

AT g
Kt-x= 2
xtx-2<6G
(x-DexaDN =0
K= 2 K=~

(c)—2—-3(x+1)? = -50
+1 X2

Sy AR
- 3 —3

(x5 = (6
x+ =2 o

/X:—\iL(

A= -\ +H
x=z % x=->

/)‘:-—“’L‘

(b) -6x*+7x—5=0

QRECAE

Z‘{ﬂ - 120 @5\)‘&(\

s
(d) -x*—6x—9=0
- COF-4(N
=~ b -0 ‘ J
=0

\L)

(b) x(2x—3) +4(x+1) =2(3 + 2x)
I Brx & HoXHH = ot Hox

Ik %+t = 6 X

“Hx -tk -6 THX M= Q(—?):'/:f
In-vx=2=0 e
IE~4x + X~ Q=6 K-2=G

ok (x-DY¥ \(x-D)=G =2
(x-DYax AD=o e

(d) 2(x+3)2—11(x+3)+15=0 ——C

2z R=7X+73
o=\l a =0 o 202)
20— (oo + 15=G =30
a(20-5)- 3-S50 o6

(ﬂ&—‘ﬂ(w@ﬁc

(2 (DS 3-3)=C
(gx+ 6-5) (V=0
(2x+ D)) 6

\
X<~ 7(:0
7
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(e) x +- x—l (f) V2x =7 +5—x
LI(L(,)( *“j’x’\ O «A {—FX _ @( 5\
Xt Qg -1 =G 25-7 = xAxS)

X= :l 1\19 “H (L (\(’A 2x -7 = ’XZ-— 6=+ 75

94‘\ -2y +7 1% *7

B[00 Sx=-12)S Oz KL+ 3L

2 0= (x-D(x-%)
= "Z* 2’5 0 & L( xX= %
11. The dlagonal of a rectangle is 10 cm. The length is 2 cm longer than the width. Determine
the width. 14- (.7(4,\ = |o% A’ (g2
/Xl“ («’«’D(’X*ﬂ“m’ “X = é‘mo\%/\ 0‘&,\\,&
A & T HUX+A = 100 x:0 3
ot »4x == 8 |
4 Y 7 N&W\C N

AT+ Jox 4526 M - Zem
(X * & Yrx~6Y=0 8
11. The height of a golf ball, in yards, is h(d) = —0.02d? + 2d, where d is the horizontal

distance the ball has travelled, in yards, after being struck. Determine how far the ball travels
before it first strikes the ground. (Note: Think of what the helght is when it touches the

) 05 ~
Gy et

h = —C),OZdZ"Qd
0 =-0.02d"12d J((MJL >
0

~6.024. (0~ 1©0) M\()&&L
=0 o= 100 \UG(\(h




